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QUESTION 1

Which two clients obtain initialization settings from both the configuration file and Application Object Manager
component parameters? (Choose two.) 

A. Web Client 

B. Handheld Client 

C. Mobile Web Client 

D. Wireless Web Client 

E. Dedicated Web Client 

Correct Answer: AD 

 

QUESTION 2

Which three are valid candidates for assignment through assignment rules? (Choose three.) 

A. Positions 

B. Responsibilities 

C. Persons 

D. Organizations 

E. Accounts 

Correct Answer: ACD 

 

QUESTION 3

Which four are correct regarding repository workflow processes? (Choose four.) 

A. can be created using Siebel Tools 

B. can be activated using Siebel Tools 

C. can be simulated using Siebel Tools 

D. can be exported to XML files in Siebel Tools 

E. can be exported to XML files in the Siebel Client 

F. can be published using the Siebel Client 

Correct Answer: ABCD 
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QUESTION 4

You want to automatically delete all child activity records when a contact record is deleted. Which is the simplest way to
configure this? 

A. Use a property on the Contact Activity Link 

B. Use a property on the Contact business component 

C. Use a Contact business component user property 

D. Use a workflow policy to monitor contact records 

E. Use a workflow triggered by a delete run-time event on the Contact business component 

Correct Answer: A 

 

QUESTION 5

Which defines a dynamic drilldown? 

A. Clicking an account record navigates you to sales team details. 

B. Clicking a contact name hyperlink always navigates to the contact detail. 

C. Clicking an account name navigates you to the last field of the current record in the current list. 

D. Clicking a contact name hyperlink navigates to contact details for US contacts and account details for non-US
contacts. 

Correct Answer: D 

 

QUESTION 6

Which four statements apply to a transient business component? (Choose four.) 

A. It can only contain single value fields. 

B. Its data disappears once the task is paused. 

C. Its data disappears once the task completes. 

D. It stores one or more records in its base table. 

E. Its data disappears once the task is cancelled. 

F. It collects only data that is used to control task flow. 

G. It requires a task applet to collect and display the data for a transient business component. 

Correct Answer: ACEG 
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QUESTION 7

What is the purpose of the SSA Primary field in a MVG applet? 

A. It allows users to select more than one primary. 

B. It indicates which child record cannot be deleted. 

C. It permits users to see and change the primary child record. 

D. It allows users to change which field is referenced in the child business component. 

Correct Answer: C 

 

QUESTION 8

Why are implicit joins used for joining party data? 

A. Implicit joins are not used with party data. 

B. To bring party data into a non-party business component. 

C. To bring party data into another party business component. 

D. To map columns in party extension tables to party business components. 

Correct Answer: D 

 

QUESTION 9

CHENG has a Call Center agent position and has no one reporting to him. You have given him a responsibility that
includes the "Manager\\'s Account List View" (My Team\\'s Account filter). What will be the outcome? 

A. You will get an error because you cannot assign a manager view to someone who does not have a manager
position. 

B. The view will not display to him since he doesn\\'t have a manager position. 

C. He will see the view, but he will not see any records. 

D. He will see the view, but he will only see records for which he is the primary on the Account Team. 

Correct Answer: D 

 

QUESTION 10

You want to add a business service step to a workflow. Which three are steps that you might perform to configure the
business service step? (Choose three.) 
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A. create additional process properties 

B. assign a value to the Business Service Name property 

C. assign a default value to the Object Id process property 

D. assign a value to the Business Service Method property 

E. create input arguments by right-clicking the business service step and selecting Show Input Arguments 

F. create one or more output argument records for the business service and set the type to Business Service 

Correct Answer: ABD 

 

QUESTION 11

You created new users and added them to existing and new user lists. In the enterprise profile file, StopOnError =
TRUE. When you attempt to deploy (using Application Deployment Manager) you are getting errors. Which could be a
possible cause? 

A. You forgot to run a backup command. 

B. You forgot to generate a mid-level release in Siebel Tools. 

C. You sequenced User List before Users in the deployment. 

D. You sequenced Users before User List in the deployment. 

Correct Answer: C 

 

QUESTION 12

While testing some configuration changes to the Opportunity List Applet, you find that you are able to edit existing
opportunities, but you cannot create new opportunities. 

Further testing reveals that you can create new opportunities in the Opportunity Form Applet - Child in the same view. 

What is this condition caused by? 

A. No Insert = TRUE and No Update = FALSE on the Opportunity business component. 

B. No Insert = TRUE and No Update = FALSE on one of the fields of the Opportunity business component which is
displayed in the list applet but not in the form applet. 

C. No Insert = TRUE and No Update = FALSE on the Opportunity List Applet. 

D. No Insert = TRUE and No Update = FALSE on one of the list columns of the Opportunity List Applet. 

E. You failed to compile the Opportunity List Applet, hence it is still checked out and cannot accept new data. 

F. Your responsibility is not correctly configured; you do not have permission to see the New Opportunity view. 

Correct Answer: C 
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QUESTION 13

You want to automatically delete all child activity records when a contact record is deleted. Which is the simplest way to
configure this? 

A. Use a property on the Contact Activity Link 

B. Use a property on the Contact business component 

C. Use a Contact business component user property 

D. Use a workflow policy to monitor contact records 

E. Use a workflow triggered by a delete run-time event on the Contact business component 

Correct Answer: A 

 

QUESTION 14

In Siebel Tools, you select Tools > Check Out and then select the Account project. You note that the Check Out button
is inactive (greyed out). Choose two reasons this might occur. (Choose two.) 

A. You have already checked out the project. 

B. Another developer has already checked out the project. 

C. Allows Object Locking is set to TRUE for this project. 

D. You have not yet performed a Get on this project. 

E. A Developer Web Client is running and connected to your local database. 

F. A Developer Web Client is running and connected to your server database. 

Correct Answer: BC 

 

QUESTION 15

You are creating a new view which contains a list applet at the top and a form applet at the bottom. Both applets are
based on the same business component. 

For one set of users, all the data shown in both applets should be editable. For another set of users the form applet
should not allow deletes or updates. 

What should you do? 

A. Create two views and set the No Update property to TRUE for one of them. 

B. Create two views and set Read Only View to TRUE when you add one to the responsibilities. 

C. Create two list applets and set the No Delete and No Update properties to TRUE for one of them. 
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D. Create two form applets and set the No Delete and No Update properties to TRUE for one of them. 

E. Create two business components set the No Delete and No Update properties to TRUE for one of them. 

Correct Answer: D 
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